What does Maths look like in
year 7 and 8 and the rationale
behind this



Forming & Solving Equations

LO: To be able to form and solve equations from worded problems

| think of a number, N.

I subtract 5 from my number and then square the result.
Which expression below gives my result?

n®->5 0l S5n°

A bat and a ball costs £1.10. The bat costs £1.00 more than the ball.
How much does the ball cost?



There are three baskets, a brown
. ‘ one, a red one and a pink one,
holding a total of ten eggs.

The brown basket has one more egg
in it than the red basket.

The red basket has three fewer eggs
than the pink basket.

How many eggs are in each basket?




If red has 1 egg, brown has 2 eggs,
pink has 4 eggs.
Total =7 eggs (this doesn't workl!)

If red has 2 eggs, then brown 3 and
pink has D.
This works!
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1 eqgg

Brown: ‘

Red: ‘ ‘

10 eggs

i 3 eggs
Pink: ‘ ‘* v

So...[ | mustequal 2 and
the brown basket has 3 eqggs,

red basket has 2 and the pink
basket has b eggs



Red: X Red: 2 eggs
Brown: x +1 Brown: 3 eggs
Pink: X+ 3 Pink: 5 eggs
I know...

x+(x+1)+(x+3)=10

3x+4=10

3x =6

X =2



I noticed This reminded

I know this is
true because...

me of

First I

I noticed a This didn't work tried

conhnection
between....

When I looked ,
at I decided to.... T already know

I no’ric,ed because... S0....
that...




The Maths Journal...

An opportunity to:

'+ Explore different
methods

Represent problems in
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There are x fish in a lagoon.
a If you put another 20 fish into the

Cc

lagoon, how many fish will there be
altogether?

Half of the fish are mackerel.

How many fish are not mackerel?
Another lagoon holds twice as

many fish.

How many fish will this lagoon hold?




INDEPENDENT

Nﬂi‘re an equation for each of
following diagrams, use them t

solve the equation.

, lokg 15 kg
e A e
' 14k
5 kg _ &
j——— |

)

Ad the value that makes each \
equation balance.

a 5+x=10 b y+ 10 =14
cC w+6=17 d 6+m=12
e 15+2z=20 f t+ 23 =30

Solve these equations.
Show your method.

a 2x=12 b 3x=12
c 5a=30 d 4h =40
e 4d = 80 f 5t=25
Extension
y —9 =15
n+6=3

e




Embedding Concepts Developing fluent

mathematicians

Making deep connections No pupils left behind




Why have we adopted a mastery
approach?

« We want students to:

— Approach problem solving with an open mind
and a range of tools

— Reach the same conclusion in a variety of
ways
— Link what the familiar with the unfamiliar

— Deepen their understanding rather than
push onto new content too quickly



Week 1 Week2 Week3I Weekd  WeekS WeekB Week7 Week8 Week9 Week10 Week1l Week12

Algebraic Thinking Place Value and Proportion
£ i Understand i | i
E I I . i Placevalueand | Fraction, decimal and
£ ' anduse ! Equalityand | - !
< Sequences | o . | ordering integers and | percentage
I algebraic ! equivalence | . ! .
. . . . decimals . equivalence
| notation | ! :
Applications of Number Directed Number Fractional Thinking
) - | | 5| :
£ S . Solving problems 15 £ 2!  Operationsand | Addition and
a problems | . . I CoW L : : ! .
) . .. 1 with multiplication 12 £ 8,  equations with . subtraction of
with addition ! o '3 T E! ) ! .
o and division = = 1 directed number fractions
& subtraction ! P |
Lines and Angles Reasoning with Number
= I ! I I
E i | | ing | | i
E Cujstructlng, .1 Developing geometric | Developing ' Setsand | Prime
=3l measuring and using | . i number | ... 1 numbers and
w . . ! reasoning ! ' probability !
geometric notation | i sense i i proof




Year 8 Overview

Week 1 Week 2 Week 3 Week 4 Week 5 Week 6 Week 7 Week 8 Week 9 Week 10 Week 11 Week 12

Revise & improve Number - Fractions 2 Number — Percentages

Autumn
Revise &
Improve

Algebra 2 Geometry — Circles & Area

Spring
Revise &
Improve

Ratio, proportion & rates of change Statistics Geometry — 3D shapes

Revise &
Improve

Summer




Mational Curriculum

All students

Application of multiplication & division

Application of multiplication & division

of composite

shapes made up

of squares,
rectangles,
triangles and
parallelograms.

Find the length of

a shape given the

area.

% Use different units
of measure.

%+ Consolidate earfier
learning through
thig topic as much
as possible.

%

103 cm

Work out the area
shapes

S0m
22 m

87 m

possible dimensions of
the rectangle.

Anna is calculating the
area of a triangle. She
zays, ‘| only need two of
the side lengths to work
out the area.” Do you
agres with Anna?
Explain whry.

of the

7 cm

*+  True or false?
Two rectangles with the
2ame area can have
different perimeters.
Explain your answer.

Statement Fluency Reazoning Problem Solving
+ Circle all the pime numbers [ = Explain why 1 isn't a prime *  How many cube numbers can you
US? the ch ce p’[S‘ from the list number. make by either adding two prime
an- """ 7T 7
P
fact Mational Curriculum All students
- c Statement Fluency Reasoning Problem Solving
. g + Calculate the mean of +  Six children have taken a + Work out the mean of the five calculation cards
m T T — SN [T R P | TS ——
> ¥ cal
o frc Mational Curriculum All students
o2 Statement Fluency Reasoning Problem Solving
- P = Work out the area of each + The rectangle and the The shape iz made from a regular pentagon
o p _* Calculate and solve shape triangle have the same and a square.
. — - . area.
-— problems involving
1)) 2.4 mm
O area of rectangles, The area of the square )
e q triangles and Pr— oo ::.r ;;4_ u:r';|1 - X
Q. parallelograms. = e penmeter
— of the shape? -q______wl.-
— &m
= / 0.08m A shape iz made up of a square and a
E % Calculate the area 7m Write down all the rectangle.

The perimeter of the shape is 70 cm
The area of the square is 121 cm?
What iz the area of the rectanglae?

The perpendicular height of a parallelogram is
a prime nurmier.

The area of the parallelogram is 52 em®

What iz the length of the parallelogram?

Which hexagon has the largest area?




Why are we adopting a mastery
approach?

» Feeder Primary schools in the area are
using this approach with excellent
results

* Proven track record in Singapore and
other Asian countries

» GCSEs are becoming more contextual
and based on problem solving and
reasoning



Assessments in Maths

Pupils have a small end of topic assessments in class
every few weeks

Homework is provided on Doddle and once a half
tTerm on paper

Progress tests will focus on what has been taught
this term.
Year 7 Thursday 5™ March

19

MATHS



Here are all the factors of a number. Here are two number lines.

1 3] | | | | |
4 7.38 7.58
12 24 2
3 8 | | | | |
B 3.228 3.328 3.428
What is the number? What is the difference between A and B?

Show your working.

1 mark

Here is a square and an equilateral triangle.
Complete the statements using <, > or =

1 .5 m|"|0n 1 60,000 12 cm

4 The perimeter of the triangle is equal to the perimeter of

4 hundredths | | — e sgare

1 0 Work out the area of the square.

2 marks




Where to revise?

B

Practics Resilency R posrysability

ion Tools

Year 7 Spring MathsWatch

Download Mathswatch onte your iPhone/fiPad or you can access this Prog ress Test tOpICS cl Ip num ber
from any PC- hittps://vle.mathswatch.co.uk/vle/
Login details: Ordering negative numbers | N2A and N2B
" o oo b Area of 2D shapes G20 and G24
NI IEEOTINRE ¢ g into This has replaced the -
the computers in schooll Certre I Mixed numbers and N35
_ ) i improper fractions
USERNAME: @' choritonhigh Adding and subtracting MN36 and N41
PASSWORD: factor fractions
Solving equations Al2
Percentage of amount N24

Your progress test will be on Thurzday Sth March. Home study will be dedicated to
preparing you for your assessment. This revision list covers topics taught this term in Sequences All

class that are relevant to the progress test and therefore supporting you to do your
best. BIDMAS N20




Ken and Steve are in a long jump competition.

Mathswatch

Ken jumps 1i5 metres.

Steve jumps 1.5 metres.

a)

b)

Who jumps further, Ken or Steve?

How much further does he jump?
Give your answer in metres.

32

FRACTIONS,

DECIMALS
and PERCENTAGES

» M= ::&

Maths

Watch

Download Mathswatch onto your iPhone/iPad or you can access this
from any PC- https://vie. mathswatch.co.uk/vie/
Login details:

Your username to log i Yo
The computert » schoold

Thes hos reploced the
Centre ID

USERNAME c harttormagh

PASSWORD fector

Put these fractions, decimals and
percentages in order, lowest to highest.

-;— 47%
047

3
3 0.55
060




Thank you for joining us this
evening. Please ask any
questions that you may have.



